

Order Date: 10/16/2023

Internal Tracking No.: 24-0001181 / 44863

Contractor Info

Labatt Food Service 17415995640 4500 Industry Park Dr. San Antonio, TX 78218

(210) 661-4216

Bill To

101 EAST 15TH ST., RM 446 Accts Payable: APPO@twc.state.tx.us AUSTIN TX 78778

Ship To

Texas Workforce Commission CCRC- Criss Cole Rehabilitation Center 512-377-0351/ 512-377-0381 Gerard King/ Mandy Frederick CCRC- Criss Cole Rehabilitation Center 4800 North Lama Austin TX 78756

NOTE TO CONTRACTOR: "Delivery Contact: Name: Gerard King/ Mandy Frederick

Phone: 512-377-0351/ 512-377-0381 Delivery Hours: Mon-Fri 8:00AM-4:30PM

Submit invoices via email to APPO@twc.texas.gov PDF or Word Documents only are accepted. All Invoices must include reference to TXSMB PO and TWC PO Internal Tracking #.24-0001181 / 44863

Disclaimer

The State of Texas is exempt from all Federal Excise Taxes except as noted in each contract.

STATE AND CITY SALES TAX EXEMPTION CERTIFICATE:

The undersigned claims an exemption from taxes under Texas Tax Code, Section 151.309(4), for purchase of tangible personal property described in this numbered order, purchased from contractor and/or shipper listed above, as this property is being secured for the exclusive use of the State of Texas, or a Texas County, City, Special District, or Other Political Subdivision.

Bobby Pounds

Texas Comptroller of Public Accounts - Statewide Procurement Division

	Agency	Purchaser	Email	Phone
Texas Workforce Commission - 320		Kelly Hall	kelly.hall@twc.texas.gov	(737) 667-5150
	Line NIGP Commodity	ar Itam	OTY LIOM	Unit Price Extended Price

Code Part # 39310 39310300106 Chips, Corn, Extruded, Curled, Bulk, CASE 1 1 20.20 \$20.20 16 Oz, 8/case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 12248-3777018 Manufacturer Name: FRITOS



Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Price
2	39310	39310301104	Chips, Corn Extruded, Curled, 1 Oz, 104/case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 32405-3778043 Manufacturer Name: FRITOS	1	CASE	39.60	\$39.60
3	39310	39310301146	Chips, Corn, Extruded, Curled, Chili Cheese, 1 - 1.5 Oz., Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 32397-3778042 Manufacturer Name: FRITOS	1	CASE	39.60	\$39.60
4	39310	39310540628	Chips, Potato, Regular, Crinkle Cut, 1 Oz, 104/case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 11061-3778046 Manufacturer Name: RUFFLES	2	CASE	39.60	\$79.20
5	39310	39310800972	Chips, Corn, Tortilla, Nacho Cheese, 1 Oz, 104/case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 11142-3778050 Manufacturer Name: DORITOS	1	CASE	39.60	\$39.60
6	39310	39310801095	Chips, Corn, Tortilla, Ranch, 10z, 72/case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 36096-9390302 Manufacturer Name: DORITOS	1	CASE	29.09	\$29.09



Line #	NIGP Code	Commodity Code/ Supplier Part #	ltem	QTY	UOM	Unit Price	Extended Price
7	39310	39310809056	Chips, Corn, Tortilla, Restaurant Style, Bulk, Enriched Or Whole Grain, 2 Lb, 6/case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 8618-3113143 Manufacturer Name: MISSION	1	CASE	41.99	\$41.99
8	39335	39335310163	Cereal, Puffed Corn, Chocolate Flavor, Ready To Eat Bowl, 96 Each, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 31888-6490009 Manufacturer Name: GEN MILLS	1	CASE	50.25	\$50.25
9	39335	39335310241	Cereal, Whole Grain, Cinnamon Toast Flavor, Toast Shape, 1 Oz Bowl, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 29444-6495114 Manufacturer Name: GEN MILLS	1	CASE	50.25	\$50.25
10	39335	39335520209	Cereal, Oats, Whole Grain, Honey Nut, Donut Shape, Ready To Eat Bowl, 96 Each, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 11918-6490650 Manufacturer Name: GEN MILLS	1	CASE	50.25	\$50.25
11	39335	39335520233	Cereal, Oats, Apple Cinnamon, Donut Shape, Ready To Eat Bowl, 96 Each, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 31879-6490008 Manufacturer Name: GEN MILLS	1	CASE	50.25	\$50.25



Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Price
12	39346	39346573007	Pudding, Instant, Vanilla, Mix With Milk, Packaged In Moisture Proof Package, 24 Oz, 12/Case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 48500-4160010 Manufacturer Name: ROYAL	1	CASE	45.35	\$45.35
13	39351	39351770456	Flour, All Purpose, Enriched, Bleached, 0 Gms transfat per serving, Packaged In Multi-Wall Moisture Proof Paper Bag, 25 Lb, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 149025202-3824515 Manufacturer Name: CLIMAX	3	BAG	8.69	\$26.07
14	39362	39362366005	Corn Meal, Yellow, Whole Grain, 0 Gms transfat per serving, 25 Lb, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 41122-3844503 Manufacturer Name: PIONEER	1	BAG	16.30	\$16.30
15	39364	39364100402	Milk, Evaporated, 12 Oz, 24/case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 1501-00-8181000 Manufacturer Name: CARNATION	1	CASE	44.54	\$44.54
16	39367	39367101001	Almonds, Blanched, Sliced, 5Lb/case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 9619296-4466116 Manufacturer Name: AZAR	1	CASE	35.92	\$35.92



Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Price
17	39367	39367535026	Pecans Pieces, Medium Fancy, Bulk, No Hull Or Foreign Matter, 5 Lb, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 00094-4410008 Manufacturer Name: VENDING	1	CASE	43.12	\$43.12
18	39368	39368513551	Peanut Butter, Regular, Creamy, Stabilized, USDA Grade A, 5 Lb Pail, 6/Case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 80510 Manufacturer Name: GARDENCLUB	1	CASE	53.59	\$53.59
19	39369	39369541162	Pickles, Dill Sliced. 1/8 In, Crinkle Cut, USDA Grade A, 1 Gal, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 80104-5162351 Manufacturer Name: BEST MAID	2	CASE	6.60	\$13.20
20	39372	39372120319	Rice, Milled Brown, Wholegrain, 25 Lb, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 3520026225-34662 Manufacturer Name: RICELAND	1	CASE	15.11	\$15.11
21	39372	39372121507	Rice, Milled Long Grain, White, Enriched, 50Lb, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 32207-023-4225504 Manufacturer Name: ADOLPHUS	2	CASE	18.86	\$37.72



Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Price
22	39372	39372302008	Rice, Pilaf; Complete, 36 Oz, 6/Case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 3409-4234555 Manufacturer Name: UNCLE BENS	2	CASE	25.56	\$51.12
23	39375	39375601001	Oil, Olive, 0 Gms of transfat per serving, 1 Gal Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 7365120125-3722055 Manufacturer Name: MARIO	6	CASE	43.49	\$260.94
24	39380	39380142006	Seasoning, Blackened Redfish, No MSG, All Natural, No Preservatives, 24 Oz, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 12309-6170162 Manufacturer Name: MAG SEASON	1	CNTR	10.31	\$10.31
25	39380	39380142008	Spice, Cajun, 22 OZ, 1/Case Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 59151-6181069 Manufacturer Name: DURKEE	1	CASE	12.77	\$12.77
26	39380	39380351302	Spice, Garlic and Herb, No Salt or MSG added, 0 Gms transfat per serving,No Glass Container, 18 Oz Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 10350-6187447 Manufacturer Name: DURKEE	2	CNTR	14.18	\$28.36



Line #	NIGP Code	Commodity Code/ Supplier Part #	Item	QTY	UOM	Unit Price	Extended Price
27	39380	39380591055	Spice, Parsley Flakes, .69 LB Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 57265-6174528 Manufacturer Name: TRADERS	1	CNTR	10.58	\$10.58
28	39381	39381633955	Sugar, Individual Portion Pack, Refined, White Beet or Cane, 2000/ Case, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 25332-8526014 Manufacturer Name: LABATT	2	CASE	15.50	\$31.00
29	39386	39386616989	Peppers, Jalapenos, Sliced, Pickled, #10 Can, 6/Case Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: NG1983141-1983141 Manufacturer Name: LACOMADRE	1	CASE	25.53	\$25.53
30	39386	39386821501	Tomato Sauce, No Added Salt, USDA Grade A, 6/#10 Can, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023	1	CASE	39.62	\$39.62
31	39386	39386810331	Tomatoes, Diced And Peeled, No Salt, Packed In Juice, USDA Grade B Or Better, 6/#10 Can, Buy American Contract: 393-GS Contract Type: Term Delivery ARO (days): 7 Delivery Date: 10/23/2023 MPN: 38067-9404117 Manufacturer Name: ANGELA MIA	1	CASE	33.19	\$33.19